GEAR & DIAL HUB-PIN TYPE — 1/8" 3/16" and /4" = 3, 4 & 6mm Bores

Hub Data Hand Fit i
PRESS FIT HAND FIT sub | set | MFt | Pross
STAKED TYPE LOCKNUT TYPE A C | D|E F | Drill | Screw | o No.
1248 92 | 2o l7ie | B | seo | wose | KO K1-1
RECOMMEND ] B DRILL 125 60 K1-10 K1-2
STAKE OR . -
DUTCH PIN WASHER 2 era| 92| 2o | 7e | 5 | eo | w0 | |
=3 NUT B * ) +.0005
F=+ _|pl_ At 062 53 K1-13 K1-5
! E 7 0000 2098|025 | 12 | g0 | #50 | #6382 | K16
*.3750 #0003 1 B £ 0000 s/a1 - — D
\\ t \ Dimensions Are In Millimeters.
| Hub Data Hand Fit | Press Fit
I 1
_;__[ D Y Sub Set Part Part
ta3 = /’{' i \ SET SCREW A c | o | E | F |Drl|Screw | o No,
1/32 X 45°
c —-—! )... “746 ’.:%%%%:—/ __J | . CHAWFER 2995| 16 |56 | 111 | 135 | 0.75 | M2X0.4 | MHUT-1 | MHU6-1
“)" TYPE GEAR . 2995| 32 [56 | 111 | 152 | 075 [ M2x0.4 | MHU7-2 | MHUG6-2
OR “M™ TYPE DIAL L . 3995 1.6 |56 | 111 | 135 | 0.75 | M2X0.4 | MHU7-3 | MHU6-3
Diameters Concentric within .0003 T.I.R.
3750 = 9.525mm 3995| 32 |56 | 111 ] 152 | 075 [ M2x0.4 | MHU7-4 | MHU6-4
- . 5905| 16 |6.35] 127 | 135 | 1.80 | M3x0.5 | MHU7-5 | MHUG-5
Material: 303 Stainless Steel 5905| 32 [6.35] 127 | 152 | 1.80 | M3x0.5 | MHU7-6 | MHUG6-6

GEAR & DIAL HUB-SPL'T TYPE — 1/g", 316" and /4" = 3,4 & 6mm Bores

PRESS FIT HAND FIT Hub Data Hand Fit | Press Fit
STAKED TYPE LOCKNUT TYPE Al c |D]|E F “*:. "‘;
“J* TYPE GEAR 062 | .53 K2-9 K2-1
/— OR “M” TYPE DIAL 1248 125 | .60 188 | 716 K2-10 K2-2
€f5 s 062 | .53 K2-11 K23
o F ] 1873 | 125 | 60 | 0| 710 | kaaz | ke
oo 062 | .53 K2-13 | K2:5
I ] { g 2498 | 125 | 60 | 12| V2 | kaa | ke
5/8
*.3750" 5008 -+ — ‘Ai‘gggg
! Dimensions Below Are In Millimeters
: : = ] Hub Data Hand Fit Press Fit
[ ko o E F Part Part
T «y nov0s_| A c No. No.
N Y B oo - ORDER 2995 | 16 | 135 | 478 | 111 | MHUS1 | MHUB-1
SEPARATELY 2095 | 3.2 152 | 478 1.1 MHU9-2 MHU8-2
RECOMMEND STAKE
OR DUTCH PIN © bameters Concantic w0003 7 A 3995 | 16 135 | 6.35 1.1 MHU9-3 MHU8-3
BT gopenio within Q003 TLR- - "3 905 | 30 | 152 | 6.35 111 MHUS-4 | MHUS-4
5995 | 16 135 | 7.92 127 MHU9-5 MHU8-5
Material: 303 Stainless Steel 5.995 3.2 15.2 7.92 12.7 MHU9-6 MHUS8-6
®
Phone: 800-243-6125 = FAX: 203-758-8271 DESIGN
E-Mail: info@pic-design.com 12-65




]
GEAR HUBS — /16", 3/8" and /2" = 8, 10 & 12mm Bores

Y
(N
/E_} :-s.22~1
—£:3-
RECOMMEND

STAKE & DUTCH PIN
THRU BOTH GEARS CHAMFER

12-66

®

PIN HUB . /‘__“—T— 12 Hub Data Split Hub Pin Hub
SUB DRILL—Y 'V_E.z_ . Shaft Part Set Part
N! T o5 Lo size | P B ¢ 0 No. Screw | No.
1
Y H— 316 | K2-50 K1-50
l “:ﬁ;:, — 516 | 3128 | 375 | 875 | Yo’ | yomon | %632 | ki.50a
> 111 3/16 K2-51 K1-51
J ' 3/8 3748 | .437 | 1.000 18 K2-51A # 8-32 K1-51A
|
- / 1 112 | 4008 | sz | 1250 | IO | KZBZ o | KIDE
SCREW —=] =D . -
Material: 303 Stainless Steel
Dimensions Below Are In Millimeters.
Hub Data Split Hub Pin Hub
Shaft Part Set Part
SPLIT HUB Size A 8 ¢ D No. Screw No.
4.76 MHU2-1 MHU1-1
8 7.995 ( 9.52 | 22.22 318 MHU2-2 M4X0.7 MHU1-2
4.76 MHU3-3 MHU1-3
10 9995 | 11.11 | 254 318 MHU3-4 M5X0.8 MHU1-4
4.76 MHU4-5 MHU1-5
i 12 | 11.995 | 14.29 | 31.75 318 MHU4-6 M6X1 MHU1-6
LS
\:L_-\E'-\ gR’I:ER “tr'P
516 116 R ARATELY
GEAR HUBS-CLUSTER — 1/ 316" and /2" = 3, 4 & 6mm Bores
SEPARATED GEARS
" TYPE 1/2 H
GEAR r‘— VA ey rypE ub Data Adjacent | Separated
\ it GEAR Shaft | B Sub | Set Part No Part No
suB I B/ +.0003 Size Drill | Screw ) ’
DRILL 1 P! 3750 -.0000)
_Y_____—-&- ! : 1/8 1248 | 7/16 #69 #2-56 BH-7 BH-4
f [~ 3/16 | .1873 | 7/16 #060 | #4-40 BH-8 BH-5
B 3750 ::m —R- -1 1/4 .2498 1/2 #50 | #6-32 BH-9 BH-6
i i
N .
RECOMMEND £ SET
STAKE OR DUTCH PIN 8 SCREW
Material: 303 Stainless Steel
* Diameters Concentric within .0003 T.1.R.
.3750" = 9.525mm
ADJACENT GEARS Dimensions Below Are In Millimeters.
Hub Data .
SPECIEY AS /4= SRECITLAS Shaft Sub Adjacent | Separated
_XE 43 we 1 A B ‘0| setScrew | PartNo. Part No.
"'I;EI;SPE = Ay }__ DRILL Size Drill
X 8 12995 | 1111 | oo | M2X04 | MHUS4 | MHUS-1
- 7727 TA_*%s , 4_|3995 | 11.11 6 MHU5-5 | MHU5-2
3750 #0003 4 — — AL M3X0.5
; 777 ——"f” ] 6 | 595 127 | 50 o MHUS6 | MHUS-3
SCRE

DESIGN

Phone: 800-243-6125 = FAX: 203-758-8271

E-Mail: info@pic-design.com




